Print Parts List

Seite 1 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts Location (1/4)

Parts Location 1

55

23

- 25

SCREWS
(1) XYN4+F12FJK /dpes/
(2) THEC1509 /9pcs/

(3) THESZC036J /2pcs/
(4) THEC326J /pes/

56

http://tda.panasonic-europe-service.com/docs/2z5b3757f122z316712656ez786d6¢z25z...

30.06.2018



Print Parts List Seite 2 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts Location (2/4)

Parts Location 2

6 3
1
39
24
15
Detail of cable clamper
12
47
Bottom view
10 10

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List

Seite 3 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts Location (3/4)

Parts Location 3

54

21 - T

14

27

41

40

20

28

16

19

45

43

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 4 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts Location (4/4)

Parts Location 4

SCREWS
(5) THEC337J /pes/
(6) THEC349N /4pcs/

Pedestal assy

59

Top view

60

Bottom view

ac
(:‘:, 1-:&»
m=>”<:=llll

'
.

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List

Seite 5 von 12

Model No. : TX-55FX740E TX-55FXR740 Location of Lead Wiring

Location of Lead Wiring

50

51

38

53

52

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 6 von 12

Model No. : TX-55FX740E TX-55FXR740 Location of Heat Rubbers and AL Tape

Location of Heat Rubbers and AL Tape

ALTAPE
#————1 A-THERMAL CONDUCTIVE SHEET

5.10

1
I
1
1
i '
1
1

TOP SIDE

http://tda.panasonic-europe-service.com/docs/2z5b3757f1222316712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 7 von 12

Model No. : TX-55FX740E TX-55FXR740 Location of Heat Rubbers

Location of Heat Rubbers

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 8 von 12

Model No. : TX-55FX740E TX-55FXR740 Location of Felt and Gaskets

Location of Felt and Gaskets

Rear Cover

= -

Back view

Heatsing ABTM
Battom view
co

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 9 von 12

Model No. : TX-55FX740E TX-55FXR740 Packing Structure

Packing Structure

49

30

37

32

35

Pedestal assy

36
33
34
31 TV SET
29

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



Print Parts List

Seite 10 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts List

Change | Safety iﬁf' Part No. Part Name & Description Q'ty Remarks
1 BAT-C-1178 BATTERY COVER OF RC 1 [pavccz
2 K1HYO05YY0311 USB CABLE 1 |pavcez

2 3 K2CQ2YY00107 AC CORD 1 |pavcez
4 LOEYAA000129 SPEAKER L 1 |pavcez
5 LOEYAA000130 SPEAKER R 1 |pavcez
6 N2QAYB001178 REMOTE CONTROL 1 |pavccz
7 N32200000028 USB DEMO MEMORY 1 |pavcez

e 8 N5HBZ0000120 WIFI DONGLE 1 |pavcez

A 9 N5HZZ0000130 BLUETOOTH DONGLE 1 |pavcez
10 TBL52G30471 RUBBER FOOT 4 |pavcez
11 TBL52G30581 RUBBER FOOT 5 |pavcez
12 TBL52X13001 PEDESTAL NECK ASSY 1 |pavcez
13 TBL52X13071 CABLE COVER ASSY 1 |pavcez
14 TBX5ZA05002 KEY BUTTON BRACKET 1 |pavcez
15 TEKX046 PUSH LATCH 1 |pavcez
16 TKK52C50631 LED PANEL 1 |pavcez
17 TKP52A72201 TERMINAL COVER 1 |pavcez
18 TKP5ZA72601 REAR COVER 1 |pavcez
19 TKP5ZA73401 LED PANEL CASE 1 |pavcez
20 TKP5ZA73503 SIDE AV BRACKET 1 [pavccz
21 TMK5%X336 P-PCB BARRIER 1 |pavcez
22 TMK52%X360 BARRIER BTM METAL 2 |pavcez
23 TMME491 CABLE CLAMPER 2 |pavcez
24 TMME4 94 CABLE CLAMPER 1 |pavcez
25 TMME495 5CABLE CLAMPER 2 |pavcez
26 TMMX317 LATCH 8 |pavcez
27 TMX5ZE0181 WIFI BRACKET 1 |pavcez
28 TMX5%X0121 BT BRACKET 1 |pavcez
29 TPCOEA43201 CARTON BOTTOM 1 |pavcez
30 TPDOE14721 CUSHION TOP 1 |pavccz
31 TPDOE24651 CUSHION BOTTOM 1 |pavcez
32 TPDOE51491 CUSHION SIDE L 1 |pavcez
33 TPDOE51501 CUSHION SIDE R 1 |pavcez
34 TPDOE51511 CUSHION FRONT 1 |pavcez
35 TPDOE51521 CUSHION REAR L 1 |pavcez
36 TPDOE51531 CUSHION REAR R 1 |pavcez
37 TPDOE51731 CUSHION PEDESTAL 1 |pavcez
38 TSCKF0030003 LVDS FFC (51PIN) 1 |pavcez
39 TTUOE2127 BACK COVER COMPLETE 1 | (TX-55FX740E) PAvVCCZ

A 39 TTUOE2258 BACK COVER COMPLETE 1 | (TX-55FXR740) PAVCCZ
40 TUC52J52531 HEATSINK A TOP FIN 1 |pavcez
41 TUC52J52601 HEATSINK A BTM 1 |pavcez
42 TUX5ZA1261 BTM METAL 1 |pavcez
43 TUX52X1831 BACK COVER FIXING METAL A L 1 |pavcez
44 TUX5ZX1841 BACK COVER FIXING METAL A R 1 |pavcez
45 TUX5ZX1871 BACK COVER FIXING METAL B L 1 |pavccz
46 TUX5ZX1881 BACK COVER FIXING METAL B R 1 |pavcez
47 TXFBLO1SGVB PEDESTAL ASSY 1 |pavcez
48 TXFKP5%0343 AC COVER ASSY 1 |pavcez
49 TXFPCO1RAWE CARTON ASSY 1 |pavcez
50 TXJ/PSQWWE P5-GK4 WIRE 1 |pavcez
51 TXJAO2RDWE A02-P2 WIRE 1 |pavcez
52 TXJAL0QXWE A10-K10/BT WIRE 1 |pavcez
53 TXJA12RAWE A12-SP WIRE 1 |pavcez

N 54 TZTZLO1RAWE LCD PANEL ASSY (SERVICE) 1 |pavcez
55 XYN4+F12FJK SCREW M4X12 SEMS BLACK 4 |pavcez
56 THEC1509 SCREW M3X5 BLACK 9 |pavccz
57 THE52%C036J SCREW M6X10 BLACK 2 |pavcez
58 THEC326J SCREW M3X6X2 4 |pavcez
59 THEC337J SCREW M4X5.5X5 1 |pavccz
60 THEC349N SCREW M5X14 4 |pavcez

R6DB/2PC BATTERY 2 |pavcez

http://tda.panasonic-europe-service.com/docs/2z5b3757f122231f6712656ez786d6¢z25z

. 30.06.2018




Print Parts List

Seite 11 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts List

Change | Safety P;\Teof. Part No. Part Name & Description Q'ty Remarks

THEC334J SCREW M3X6X3 1 |pavcez

THEJ036J SCREW M3X4.8 SILVER 23 |pavcez

THNX098J VESA SPACER NUT 2 |pavcez

TPDX0033 JOINT 4 |pavcez

TPEOE4134 SET BAG 3 [pavcez
TQBOE2792 PRODUCT INFORMATION SHEET 1 (TX-55FX740E) PAVCCZ
A TQBOE27928 INSTRUCTION BOOK (SLOVENIAN) 1 (TX-55FX740E) PAVCCZ
TQBOE2792A INSTRUCTION BOOK (GERMAN) 1 (TX-55FX740E) PAVCCZ
oy TQBOE2792B INSTRUCTION BOOK (DUTCH) 1 (TX-55FX740E) PAVCCZ
iy TQBOE2792C INSTRUCTION BOOK (ITALIAN) 1 (TX-55FX740E) PAVCCZ
e TQBOE2792D INSTRUCTION BOOK (FRENCH) 1 (TX-55FX740E) PAVCCZ
N TQBOE2792E INSTRUCTION BOOK (SPANISH) 1 (TX-55FX740E) PAVCCZ
oy TQBOE2792F INSTRUCTION BOOK (SWEDISH) 1 (TX-55FX740E) PAVCCZ
a TQBOE2792G INSTRUCTION BOOK (NORWEGIAN) 1 (TX-55FX740E) PAVCCZ
s TQBOE2792H INSTRUCTION BOOK (FINNISH) 1 (TX-55FX740E) PAVCCZ
N TQBOE27921 INSTRUCTION BOOK (LITHUANIAN) 1 (TX-55FX740E) PAVCCZ
o TQBOE2792J INSTRUCTION BOOK (PORTUGUESE) 1 (TX-55FX740E) PAVCCZ
£ TQBOE2792K INSTRUCTION BOOK (DANISH) 1 (TX-55FX740E) PAVCCZ
a TQBOE2792M INSTRUCTION BOOK (BULGARIAN) 1 (TX-55FX740E) PAVCCZ
e TQBOE2792N INSTRUCTION BOOK (ROMANIAN) 1 (TX-55FX740E) PAVCCZ
N TQBOE27920 INSTRUCTION BOOK (LATVIAN) 1 (TX-55FX740E) PAVCCZ
A TQBOE2792P INSTRUCTION BOOK (POLISH) 1 (TX-55FX740E) PAVCCZ
N TQBOE27920Q INSTRUCTION BOOK (HUNGARIAN) 1 (TX-55FX740E) PAVCCZ
N TQBOE2792R INSTRUCTION BOOK (CZECH) 1 (TX-55FX740E) PAVCCZ
iy TQBOE27925 INSTRUCTION BOOK (GREEK) 1 (TX-55FX740E) PAVCCZ
N TQBOE2792T INSTRUCTION BOOK (TURKISH) 1 (TX-55FX740E) PAVCCZ
TQBOE2792U INSTRUCTION BOOK (ENGLISH) 1 (TX-55FX740E) PAVCCZ
oy TQBOE2792V INSTRUCTION BOOK (CROATIAN) 1 (TX-55FX740E) PAVCCZ
i TQBOE2792W INSTRUCTION BOOK (SLOVAKIAN) 1 (TX-55FX740E) PAVCCZ
oy TQBOE2792% INSTRUCTION BOOK (ESTONIAN) 1 (TX-55FX740E) PAVCCZ
A TQBOE28013 INSTRUCTION BOOK (KYRGYZ) 1 (TX-55FXR740) PAVCCZ
iy TQBOE28014 INSTRUCTION BOOK (GEORGIAN) 1 (TX-55FXR740) PAVCCZ
iy TQBOE28015 INSTRUCTION BOOK (AZERBAIJANI) 1 (TX-55FXR740) PAVCCZ
iy TQBOE28016 INSTRUCTION BOOK (ARMENIAN) 1 (TX-55FXR740) PAVCCZ
iy TQBOE28019 INSTRUCTION BOOK (KAZAKHSTAN) 1 (TX-55FXR740) PAVCCZ
o TQBOE2801L INSTRUCTION BOOK (RUSSIAN) 1 (TX-55FXR740) PAVCCZ
A TQBOE2801Y INSTRUCTION BOOK (UKRAINIAN) 1 (TX-55FXR740) PAVCCZ
TQBOE7009 PRODUCT FICHE 1 (TX-55FXR740) PAVCCZ
TQFOEB129 ENERGY LABEL 1 (TX-55FX740E) PAVCCZ
TQFOEB183 ENERGY LABEL 1 (TX-55FXR740) PAVCCZ

TUC4VJI50011A HEATSINK 1 |pavcez

TUC4VJ50031 HEATSINK 2 |pavcez

TUC52J50932 HEATSINK 1 |pavcez

XYN3+C6FJ SCREW M3X6 5 |pavccz

XYN3+C8FJ SCREW M3X8 3 |pavcez

ALAOLl |[TEWF483 AL TAPE (W10XL20XT0.05) 1 |pavccz

CA01 |TMMEA74 SPACER A-PCB 1 |pavcez

CA02 |TMMEA74 SPACER A-PCB 1 |pavccz

cA03 |[TMMEA74 SPACER A-PCB 1 |pavccz

ca04 |TMMEA74 SPACER A-PCB 1 [pavccz

CA05 |TMMEA74 SPACER A-PCB 1 |pavcez

ca06 [TMMEA474 SPACER A-PCB 1 |pavcez

ca07 |TMMEA74 SPACER A-PCB 1 [pavccz

CK301 [TMME388 SPACER (P-PCB) 1 |pavcez

FAO1l |TMKK662 HEAT RUBBER (20X20XT2.5) 1 |pavcez

FA02 |TMKK659 HEAT RUBBER (26X26XT1.0) 1 |pavcez

FAO3 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavcez

FAO4 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 [pavccz

FAO5 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 [pavccz

FA06 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavccz

FAO7 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavcez

FA08 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavcez

http://tda.panasonic-europe-service.com/docs/2z5b3757f1222316712656ez786d6¢z25z... 30.06.2018



Print Parts List Seite 12 von 12

Model No. : TX-55FX740E TX-55FXR740 Parts List

Change | Safety P;\Teof. Part No. Part Name & Description Q'ty Remarks
FA09 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavcez
FA10 |TMKK737 HEAT RUBBER (10X10XT2.5) 1 |pavcez
FK201 |TMK4GA490 FELT (W5XL10XTO0.5) 1 |pavcez
GK301 |[TEWB897 GASKET (10X10XT8) 1 [pavccz
GK302 [TEWB897 GASKET (10X10XT8) 1 [pavccz

http://tda.panasonic-europe-service.com/docs/2z5b3757f12z2231f6712656ez786d6¢z25z... 30.06.2018



